Worksheet 1 Answers
1. 2Na + Cl; — 2NaCl
S R i SRR B
3. 3H, + N, — - 2NH;
4, 4Fe + 30, — 2Fe03
5. AgNOz +  NaCl — ‘AgCl +° NaNQs
6. Fe + CuSO4y — FeSO4 + Cu
7. Ca + 2AgNOs — Cu(NOi)p  +  24p
B Al = SOaNCEh - == 2AINCO - o 306

9. Fe + 2HCI] — FeCl, + H,

10.Ag + 2HNOs — NOy + H:0 + ApNOs

11.CaCO3 + 2NaCl — NaCO; + CaCl
12.Mg + 2HClI — MpCh + H
13.4NH; 30, — 2N, + 6H,0

POy = 205 =9 00 & 20

15. 20 - #. 2505 == 1660 + 18H:0
16, 2EGI08 - —c 2RO F 3

17.CaC0s -~ Lal 4 05



Worksheet 2 Answers
I, 2Ma +  ZHe00. = ZNGOH - + - Hs
2, Bag) +  H:804 -~ BadCy  oF o 1hO
3 Ialls =+ 2K.POy — Cag(Pilalh -

4, Z8 + Z2HCL = Hy 26kl

5. Po(GHsO:)3 + HeS — PbS 4 2HCHIO;

6. Mg == HQSO4 = MgSO4 = Hz
7. 3CaO " + P,0O5 — Ca;(PO4)2

8. Ca + 2H,0 — Ca©OH), + H,

9. 2NaHCO; + H,SO, — NaSO;, + 2H,0 +

10.€u0 -+ «Hs o = tHQ = 1Cu

11 Mgty 4 2HGL = 2MgGh d - 250 F T

12. 2Al(OH); + 3H,SOs — Al(SO4); +
13, AgNQs  + HClL — AgCl +  HNO;
1d. iy 20 = HINGs ok - H0
15.7Z0Cl; + (NHi)S - ZnS + 2NHCI
16.2A1 + Fe,O3 — AlLO3; + 2Fe

L08R = ailEn



Worksheet 3 Answers
1. 3Zn(ClO;); + 2AINO;3)3; — 3Zn(NOs), + 2AI(ClO;)s
2, 3NalOs; + (NH4)POy — NasPOy + 3NHiIOs
3. KsiCrO4y + Pb(NO3), — 2KNO; + PbCrOy
4, 3NiCOs; + 2Bi(FO;)3 — 3Ni(FOs3); + Biy(CO3)s
3. Fe(Brix)s + 3ApNGs; = Be(NO:h + - 3AgBith
6. Sby(SO4); + 3Ba(OH), — 2Sb(OH); + 3BaSO,
7. Pb(C;H30,)s + 2Na,CO; — Pb(CO;); + 4NaC,H;0,
8. 2CaS0O4 + Sn(Cy)04); — 2CaC04 + Sn(SO04);
9. 2Li3AsOs + 3HgCrO4 —  3LiCrOs4 + (Hg2)3(AsOs):
10. Al(FO3)3 + 3LiGH3;0; — Al(CHiO2)3 + 3LiFO;
11. Sn(NO3), + Mg(ClO;3); — Sn(ClO3), + Mg(NO3),
12.CuS80; + 2KOH  — K580, + Cu(QH)
13. 3FeCrOy .+ 2(NH4)sPOy =+ Fes(POg)p =+ 3(NHipC0O,
14. 2As(NO3); + 3CuC0s —  Asy(Cy04)3 + 6CuNO;
15. 2NHOH + Hg(FOz) — 2NHFO; +  Hg(OH);
16. Sr(HSO4); +  RbHPO4 — SrHPO; + 2RbHSOy

17. 3Mn(H,POq4); + 2Cr(HCO;3); — 3Mn(HCO3); + 2Cr(HzPO4)s



Worksheet 4 answers

10.

Ll

2.

15

14.

13

16.

17,

; Ba(FOZ)z + zNaC2H3OZ = Ba(C2H302)2 S 2NaF02

Hg,(NO), + 2NH,Cl — 2NH,NO, + HgCl
AgiPOs + Ki3AsO3 — AgiAsO;  K3POs

2LICI0O  + Mg(I0,); — 2LiI0, + Mg(ClO),
PbSO; + Hg(ClO,), — Pb(ClOy), + HgSO;

NaS + CupCrOy — CuS + NaCrOy4

3Ni(I0), + Al(Cy04)5 — 2A100); + 3NiCy04
3Ba(OH); + AsySO3)3; — 3BaSO; + 2As(OH)
2LisPO;  +  3Zn(Cl0); — 6LiCIO + Zn3(PO3),
Sby(CO3)s + S5Cu(BrOs); — 2Sb(BrOs)s + S5CuCOs
FeBr, + Mg(C;H3;0,); — Fe(C;H;0,), + MgBr;
3Zn(NO,); + 2Bils — 3Znl, + 2Bi(NOy)s

ONaCl + LiS — NaS + 2LiCl

PbF, + K,Cr,0; — PbCrO; + 2KF

Mn(HC,04); + 2RbHSO; — Mn(HSO;3), + 2RbHC,0,
Ra(HSOs), + Sr(HCO;); — Ra(HCO;); + Sr(HSO,),

SO+ - Be(HS); -5 9CEHS  + - Be(OH),



Worksheet 5 Answers
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12.
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175

18.

Zn-¥ 5 = Zas

Cal + O ~— -Ca(Oi)

MgBr, + Cls -  MgClh + B

2NaF + Hp804 =5 - Nas8Qy -+ ZHF

Al FegQz - = Al - - JFp

NH,NO, — N, + 2H;0

NH; “+ 205 =3 HNOy = *H0

Zn . & . Po(Colats)s -« =» - fpiloH0s) - = Ph
Caly + Bz — CaBm: + b

BaCQs =» . Bal  + COs

(NHaptldy =+ 2BHg  F HO 7 F 00
Al(SO4); + 3Ca(OH); — 2Al(OH); + 3CaSOq4
CHsOH: "+ 30 - 2005 +  3H;O

LaCly  — a0 + LGy

ZHCL - 4= NesCels == -OFBCEL- == TG+ . C0h
CO; + Ca(OHp:  — CaCly +  H;O

Feoly  +. 3€L) =3 2Fe. + | 3Lh

2HCL -0 ol e = RGeS cHe0)



Worksheet 6 Answers
1. Cu + 2AgNO; — Cu(NO;), + 2Ag
2, 2Mg + 0O, — 2MgO
3. HC1 + AgNO; — AgCl + HNO;
4. Mg + 2HCI —» MgCl, + H;
e A (O B4 - R T D e
6. 4Fe + 30, — 2Fe)03
7. Fe + B -  Fe8
. Ca(OH) + Hsdly — Cghly + - 2H0
9. Zn - 4+ 8 = Z6s

10.

o0

Mg 52 Nz —> Mg3N2

L CiCOs = Cad + €0

2. 2Na -+  2H;0 =  2NaOH: 4 Ik

3. NELNOz == Nz - ZHD

SR B B IR R

3. 2K+ ~2HL0 = 2K0OH 4+ . Hj

6. CaCQy- o+ 2HC = Call " Helh o+ Gy
7. NH\NO; — 2H,0O + N0

B Cr + 2HCL = LGk % EHy

9. Ba(OH); + € ~—» ‘BiaCOQs- +  H0O



